SN2 EE

REEH

IERI SRR EERIER

SH2F4A18 L >R 3E3A3IBET

(410 )
Y= REE
[—AR EBREA EEIE B D B

REEMDER
1 U A 37,085,880

R DR
REER 37,015,152
YRR B R 70,728
LR E AEREE 0
= — iR IE BRBA IR B ER 70,728
—MRERMEREES 10,018,806
EEERMERE RS 0
IERBERRES 10,089,534

EfERRER
S0 2 F£3A31KRE
(B : [)
Y= REEE

| BEOER
MEEESE 7,970,071
EE&EESET 10,400,879
BEDEHAEE 18,370,950

Il BEDER
mEBBESE 1,657,466
EE&EEET 6,623,950
BEDOEEET 8,281,416

Il IERREFZE DR

B ERRRAEE A ST 0
— R IEBREIEE S ET 10,089,534
IERBIEAET 10,089,534
EBERVERBEAS 18,370,950




